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Fv— a—2R K# FRrE kR
1 160km EH Bz TH5RE289343%
2 160km A 1B DNS
3 160km 7 N 5RFRE584 2671
4 160km TR BUE 6RFRI594323%
5 160km TH BE 6REFRI224 55
6 160km Al BE 6RFRI39401%
7 160km TH = TREERI17 9478
8 160km il 8 DNS
9 160km A0 BB 5RFRE594037
10 160km He Bl SRFE5990047
11 160km A ER 6REFRI21455%
12 160km =H  5h DNF
13 160km 2 = 6RFREI584350%
14 160km A HA 6RFRE0043427
15 160km PR fR— THFREI584313%
16 160km fER KEB DNS
17 160km Ee BN DNS
18 160km /N S DNF
19 160km HiE 08 DNS
20 160km NS BAR 6RFRE274>49%
21 160km INSEIR SRR 6R5RI264>49%)
22 160km INEF fR— 5RFRE17405%
23 160km BR kA 6RFRI559307H
24 160km FE HWA 5RFRE564> 358
25 160km T FRA SRSRI444>38%)
26 160km HBAN T THEE369 347
27 160km XA EE TEFE2346%
28 160km = %t SREFEI554053F)
29 160km KEF SRSRE599 447
30 160km =K = 5RFRI4445 381
31 160km T &= 6RFRI544 107
32 160km i KE 5RFREI374355%
33 160km =N #2 6REEI58 3T




34 160km WE KEH DNF

35 160km mA BA 6506042
36 160km KE 2 DNF

37 160km EAR FF DNS

38 160km FH & SRFRI439387%
39 160km A 5 SRFRE43438%
40 160km LT BA SRFRE439387%
41 160km =F B=F THF414558
42 160km xR BERER 6REEI5843%)
43 160km EBE M= TRFFE07 22408
44 160km na E 7TEEE504>03%
45 160km A — TESRE439467
46 160km AN=T SRFR144>29%
47 160km X R DNS

48 160km s SEIE 6RERI3697497F)
49 160km Rk —2 THERS214>55%
50 160km GIES Y| SRR 144>267
51 160km Wil 3R THER31>28%
52 160km =5 hEF THEfEI32017
53 160km &F E THERS204>497)
54 160km ®F HE THERS320 4270
55 160km =H 2 SRERI13 277
56 160km M f= DNS

57 160km HAE X THERH43517)
58 160km B4 EE THERFA3 117
101 80km HE %k 3EERE274> 157
102 80km XA A 3294356
103 80km ZE = 3E5RE18931%)
104 80km TR =Yy T ATy 2K5RE284 118
105 80km Bl B’ 20591843398
106 80km EE 2852043297
107 80km E7 #EA 205R9184>39%
108 80km HH = 25118493391
109 80km ELAR 1&H 205R9184>39%
110 80km ZH 285330167
111 80km LA IE 2855520408
112 80km AR RE 285940927




